



## Stancu Type Generalization of Szász-Durrmeyer Operators Involving Brenke-Type Polynomials

Rabia Aktaş<sup>a</sup>, Dilek Söylemez<sup>b</sup>, Fatma Taşdelen<sup>a</sup>

<sup>a</sup>Ankara University, Faculty of Science, Department of Mathematics, 06100, Ankara, Turkey

<sup>b</sup>Ankara University, Department of Computer Programming, Elmadag Vocational School, Ankara, Turkey

**Abstract.** In the present paper, we introduce a Stancu type generalization of Szász-Durrmeyer operators including Brenke type polynomials. We give convergence properties of these operators via Korovkin's theorem and the order of convergence by using a classical approach. As an example, we consider a Stancu type generalization of the Durrmeyer type integral operators including Hermite polynomials of variance  $v$ . Then, we obtain the rates of convergence by using the second modulus of continuity. Also, for these operators including Hermite polynomials of variance  $v$ , we present a Voronovskaja type theorem and  $r$ -th order generalization of these positive linear operators.

### 1. Introduction

Durrmeyer [8] introduced a variant of the Bernstein polynomials for integrable functions on  $[0, 1]$ . Many authors considered Durrmeyer type operators and further generalizations presenting better approximation result. Some are in [1], [4], [5], [10], [11].

For  $f \in C[0, \infty)$ , a Durrmeyer variant of Szász-Mirakyan operators was proposed by Mazhar et al. [15] by following

$$(S_n^* f)(x) = n \sum_{k=0}^{\infty} e^{-nx} \frac{(nx)^k}{k!} \int_0^{\infty} e^{-nt} \frac{(nt)^k}{k!} f(t) dt. \quad (1)$$

In [13], Jakimovski et al. introduced linear positive operators including Appell polynomials. In [7], Ciupa defined the following Durrmeyer type integral modification of the operators introduced by Jakimovski et al.

$$(P_n f)(x) = \frac{e^{-nx}}{g(1)} \sum_{k=0}^{\infty} p_k(nx) \frac{n^{\lambda+k+1}}{\Gamma(\lambda+k+1)} \int_0^{\infty} e^{-nt} t^{\lambda+k} f(t) dt \quad (2)$$

2010 *Mathematics Subject Classification.* Primary 41A25; Secondary 41A36

*Keywords.* Szász-Durrmeyer operator, modulus of continuity, Brenke type polynomials, Hermite polynomials

Received: 17 December 2016; Accepted: 02 February 2019

Communicated by Dragan S. Djordjević

*Email addresses:* raktas@science.ankara.edu.tr (Rabia Aktaş), dsoylemez@ankara.edu.tr (Dilek Söylemez),  
tasdelen@science.ankara.edu.tr (Fatma Taşdelen)

under the assumption  $\frac{a_k}{g(1)} \geq 0, k = 0, 1, 2, \dots$  where  $\lambda \geq 0, g(1) \neq 0$ . Appell polynomials  $p_k(x)$  have the generating function representation in the form of

$$g(t) e^{xt} = \sum_{k=0}^{\infty} p_k(x) t^k,$$

where  $g(t)$  is an analytic function in the disc  $|t| < R$  ( $R > 1$ )

$$g(t) = \sum_{r=0}^{\infty} a_r t^r, \quad a_0 \neq 0.$$

By the motivation of these works, many authors introduced linear positive operators via generating functions and their further extensions for example, we refer the readers to [12], [21], [22], [23], [24]. In [25], Varma et al. introduced Durrmeyer variant of generalized Szász operators including Brenke type polynomials studied in [22]

$$L_n^*(f; x) = \frac{1}{A(1)B(nx)} \sum_{k=0}^{\infty} p_k(nx) \frac{n^{\lambda+k+1}}{\Gamma(\lambda+k+1)} \int_0^{\infty} e^{-nt} t^{\lambda+k} f(t) dt \tag{3}$$

under the restrictions

- (i)  $A(1) \neq 0, \frac{a_{k-n} b_n}{A(1)} \geq 0, 0 \leq n \leq k, k = 0, 1, 2, \dots,$
- (ii)  $B : [0, \infty) \rightarrow (0, \infty),$
- (iii) (5) and the power series (6) and (7) are converge for  $|t| < R, (R > 1)$

where Brenke type polynomials  $p_k(x)$  are generated by [6]

$$A(t) B(xt) = \sum_{k=0}^{\infty} p_k(x) t^k, \tag{5}$$

where the functions  $A(t)$  and  $B(t)$  are analytic in the disk  $|t| < R, (R > 1)$

$$A(t) = \sum_{n=0}^{\infty} a_n t^n, \quad a_0 \neq 0, \tag{6}$$

$$B(t) = \sum_{n=0}^{\infty} b_n t^n, \quad b_n \neq 0 \quad (n \geq 0) \tag{7}$$

from which, we get

$$p_k(x) = \sum_{n=0}^k a_{k-n} b_n x^n, \quad k = 0, 1, 2, \dots$$

Recently, Mishra et al. [16] introduced Stancu type generalization of the Baskakov-Szász operators and studied approximation properties of these operators. Inspired by such operators, we consider Stancu type generalization of the Durrmeyer type integral operators (3) including Brenke type polynomials as follows

$$L_n^{(\alpha, \beta, \lambda)}(f; x) = \frac{1}{A(1)B(nx)} \sum_{k=0}^{\infty} p_k(nx) \frac{n^{\lambda+k+1}}{\Gamma(\lambda+k+1)} \int_0^{\infty} e^{-nt} t^{\lambda+k} f\left(\frac{nt + \alpha}{n + \beta}\right) dt \tag{8}$$

under the restrictions (4), where  $x \geq 0$ ,  $\lambda \geq 0$ ,  $n \in \mathbb{N}$  and  $\alpha, \beta$  parameters satisfy the condition  $0 \leq \alpha \leq \beta$ . For  $\alpha = \beta = 0$ , the operator (8) turns to the operator (3).

We organize the paper as follows.

In section 2, we first give some lemmas to obtain convergence properties of the operators (8) by means of Korovkin's theorem and then we prove the main theorem. We compute the rate of convergence of the operators  $L_n^{(\alpha, \beta, \lambda)}(f)$  to  $f$  by means of the modulus of continuity. In section 3, as a special case of the operators (8), we define a Stancu type generalization of Szász-Durrmeyer operators including Hermite polynomials of variance  $v$  which are Brenke type polynomials. Then, we obtain the rate of convergence of these operators with the help of the second modulus of continuity. Furthermore, we give a Voronovskaja type theorem and  $r$ -th order generalization of these operators including Hermite polynomials of variance  $v$ .

## 2. Approximation properties of the operators $L_n^{(\alpha, \beta, \lambda)}$

First of all, we give some lemmas in order to prove the main theorem and then, we compute the rate of convergence of the operators  $L_n^{(\alpha, \beta, \lambda)}(f)$  to  $f$  by means of a classical approach.

**Lemma 2.1.** For the operators  $L_n^{(\alpha, \beta, \lambda)}$ , we have

$$L_n^{(\alpha, \beta, \lambda)}(1; x) = 1, \tag{9}$$

$$L_n^{(\alpha, \beta, \lambda)}(t; x) = \frac{\lambda + \alpha + 1}{n + \beta} + \frac{A'(1)}{A(1)(n + \beta)} + \frac{nx}{n + \beta} \frac{B'(nx)}{B(nx)}, \tag{10}$$

$$\begin{aligned} L_n^{(\alpha, \beta, \lambda)}(t^2; x) &= \frac{n^2x^2}{(n + \beta)^2} \frac{B''(nx)}{B(nx)} + \frac{2nx}{(n + \beta)^2} \frac{B'(nx)}{B(nx)} \left\{ \frac{A'(1)}{A(1)} + \lambda + \alpha + 2 \right\} \\ &+ \frac{1}{(n + \beta)^2} \left\{ \frac{A''(1)}{A(1)} + 2(\lambda + \alpha + 2) \frac{A'(1)}{A(1)} \right. \\ &\left. + \alpha^2 + 2(\lambda + 1)\alpha + (\lambda + 1)(\lambda + 2) \right\}. \end{aligned} \tag{11}$$

*Proof.* Using the generating function of Brenke type polynomials given by (5), we obtain

$$\sum_{k=0}^{\infty} p_k(nx) = A(1)B(nx), \tag{12}$$

$$\sum_{k=0}^{\infty} kp_k(nx) = A'(1)B(nx) + nx A(1)B'(nx), \tag{13}$$

$$\begin{aligned} \sum_{k=0}^{\infty} k^2 p_k(nx) &= n^2x^2 A(1)B''(nx) + nx B'(nx) \{2A'(1) + A(1)\} \\ &+ B(nx) \{A''(1) + A'(1)\}. \end{aligned} \tag{14}$$

For  $f(t) = 1$ , the operator (8) is as follows

$$L_n^{(\alpha, \beta, \lambda)}(1; x) = \frac{1}{A(1)B(nx)} \sum_{k=0}^{\infty} p_k(nx) \frac{n^{\lambda+k+1}}{\Gamma(\lambda + k + 1)} \int_0^{\infty} e^{-nt} t^{\lambda+k} dt$$

from the definition of the gamma function, it becomes

$$\begin{aligned} L_n^{(\alpha,\beta,\lambda)}(1;x) &= \frac{1}{A(1)B(nx)} \sum_{k=0}^{\infty} p_k(nx) \frac{n^{\lambda+k+1}}{\Gamma(\lambda+k+1)} \int_0^{\infty} e^{-nt} t^{\lambda+k} dt \\ &= \frac{1}{A(1)B(nx)} \sum_{k=0}^{\infty} p_k(nx) \\ &= 1. \end{aligned}$$

For  $f(t) = t$ , the operator (8) reduces to

$$\begin{aligned} L_n^{(\alpha,\beta,\lambda)}(t;x) &= \frac{1}{A(1)B(nx)} \sum_{k=0}^{\infty} p_k(nx) \frac{n^{\lambda+k+1}}{\Gamma(\lambda+k+1)} \int_0^{\infty} e^{-nt} t^{\lambda+k} \left(\frac{nt+\alpha}{n+\beta}\right) dt \\ &= \frac{1}{(n+\beta)A(1)B(nx)} \sum_{k=0}^{\infty} p_k(nx) \frac{n^{\lambda+k+2}}{\Gamma(\lambda+k+1)} \int_0^{\infty} e^{-nt} t^{\lambda+k+1} dt \\ &\quad + \frac{\alpha}{(n+\beta)A(1)B(nx)} \sum_{k=0}^{\infty} p_k(nx) \frac{n^{\lambda+k+1}}{\Gamma(\lambda+k+1)} \int_0^{\infty} e^{-nt} t^{\lambda+k} dt. \end{aligned}$$

By using the gamma function and the equalities (12) and (13), we have the equality (10). Similarly, for  $f(t) = t^2$ , by means of the equalities (12), (13) and (14), one can easily obtain the equality (11).  $\square$

**Lemma 2.2.** For each  $x \in [0, \infty)$ , it follows from the results in Lemma 2.1,

$$\begin{aligned} \Omega_n^{(\alpha,\beta,\lambda)}(x) &:= L_n^{(\alpha,\beta,\lambda)}((t-x)^2;x) \\ &= \left\{ \frac{n^2}{(n+\beta)^2} \frac{B''(nx)}{B(nx)} - \frac{2n}{n+\beta} \frac{B'(nx)}{B(nx)} + 1 \right\} x^2 \\ &\quad + \left\{ \frac{2n}{(n+\beta)^2} \frac{B'(nx)}{B(nx)} \left\{ \frac{A'(1)}{A(1)} + \lambda + \alpha + 2 \right\} - \frac{2}{n+\beta} \left\{ \frac{A'(1)}{A(1)} + \lambda + \alpha + 1 \right\} \right\} x \\ &\quad + \frac{1}{(n+\beta)^2} \left\{ \frac{A''(1)}{A(1)} + 2(\lambda + \alpha + 2) \frac{A'(1)}{A(1)} + \alpha^2 + 2(\lambda + 1)\alpha + (\lambda + 1)(\lambda + 2) \right\}. \end{aligned}$$

**Theorem 2.3.** Assume that

$$E := \left\{ f : x \in [0, \infty), \frac{f(x)}{1+x^2} \text{ is convergent as } x \rightarrow \infty \right\}$$

and

$$\lim_{y \rightarrow \infty} \frac{B'(y)}{B(y)} = 1 \quad \text{and} \quad \lim_{y \rightarrow \infty} \frac{B''(y)}{B(y)} = 1. \tag{15}$$

Let  $f \in C[0, \infty) \cap E$ . Then

$$\lim_{n \rightarrow \infty} L_n^{(\alpha,\beta,\lambda)}(f;x) = f(x),$$

and the operators  $L_n^{(\alpha,\beta,\lambda)}$  converge uniformly in each compact subset of  $[0, \infty)$ .

*Proof.* From the results obtained in Lemma 2.1 and the assumptions (15),

$$\lim_{n \rightarrow \infty} L_n^{(\alpha, \beta, \lambda)}(t^i; x) = x^i, \quad i = 0, 1, 2,$$

holds where this convergence holds uniformly in each compact subset of  $[0, \infty)$ . Then, applying the universal Korovkin type Theorem 4.1.4 (vi) given in [3] gives the desired result.  $\square$

Let  $f \in \widetilde{C}[0, \infty)$  and  $\delta > 0$ . The modulus of continuity of  $f$  denoted by  $\omega(f; \delta)$  is defined by

$$\omega(f; \delta) := \sup_{\substack{x, y \in [0, \infty) \\ |x - y| \leq \delta}} |f(x) - f(y)|,$$

where  $\widetilde{C}[0, \infty)$  is the space of uniformly continuous functions on  $[0, \infty)$ . Then, for any  $\delta > 0$  and each  $x \in [0, \infty)$ , we have the following inequality

$$|f(x) - f(y)| \leq \omega(f; \delta) \left( \frac{|x - y|}{\delta} + 1 \right). \tag{16}$$

Now, we can calculate the order of approximation by means of the modulus of continuity as follows.

**Theorem 2.4.** For  $f \in \widetilde{C}[0, \infty) \cap E$ , we have

$$\left| L_n^{(\alpha, \beta, \lambda)}(f; x) - f(x) \right| \leq 2\omega \left( f; \sqrt{\Omega_n^{(\alpha, \beta, \lambda)}(x)} \right),$$

where

$$\begin{aligned} \Omega_n^{(\alpha, \beta, \lambda)}(x) &:= L_n^{(\alpha, \beta, \lambda)}((t - x)^2; x) \\ &= \left\{ \frac{n^2}{(n + \beta)^2} \frac{B''(nx)}{B(nx)} - \frac{2n}{n + \beta} \frac{B'(nx)}{B(nx)} + 1 \right\} x^2 \\ &+ \left\{ \frac{2n}{(n + \beta)^2} \frac{B'(nx)}{B(nx)} \left\{ \frac{A'(1)}{A(1)} + \lambda + \alpha + 2 \right\} - \frac{2}{n + \beta} \left\{ \frac{A'(1)}{A(1)} + \lambda + \alpha + 1 \right\} \right\} x \\ &+ \frac{1}{(n + \beta)^2} \left\{ \frac{A''(1)}{A(1)} + 2(\lambda + \alpha + 2) \frac{A'(1)}{A(1)} + \alpha^2 + 2(\lambda + 1)\alpha + (\lambda + 1)(\lambda + 2) \right\}. \end{aligned} \tag{17}$$

*Proof.* Using linearity of the operators  $L_n^{(\alpha,\beta,\lambda)}$ , (9) and (16), we get

$$\begin{aligned}
 & \left| L_n^{(\alpha,\beta,\lambda)}(f; x) - f(x) \right| \\
 & \leq \frac{1}{A(1)B(nx)} \sum_{k=0}^{\infty} p_k(nx) \frac{n^{\lambda+k+1}}{\Gamma(\lambda+k+1)} \int_0^{\infty} e^{-nt} t^{\lambda+k} \left| f\left(\frac{nt+\alpha}{n+\beta}\right) - f(x) \right| dt \\
 & \leq \frac{1}{A(1)B(nx)} \sum_{k=0}^{\infty} p_k(nx) \frac{n^{\lambda+k+1}}{\Gamma(\lambda+k+1)} \int_0^{\infty} e^{-nt} t^{\lambda+k} \left( \left| \frac{nt+\alpha}{n+\beta} - x \right| + 1 \right) \omega(f; \delta) dt \\
 & \leq \left\{ 1 + \frac{1}{A(1)B(nx)\delta} \sum_{k=0}^{\infty} p_k(nx) \frac{n^{\lambda+k+1}}{\Gamma(\lambda+k+1)} \right. \\
 & \quad \left. \times \int_0^{\infty} e^{-nt} t^{\lambda+k} \left| \frac{nt+\alpha}{n+\beta} - x \right| dt \right\} \omega(f; \delta).
 \end{aligned} \tag{18}$$

By applying the Cauchy-Schwarz inequality for integration, one may write

$$\int_0^{\infty} e^{-nt} t^{\lambda+k} \left| \frac{nt+\alpha}{n+\beta} - x \right| dt \leq \left( \frac{\Gamma(\lambda+k+1)}{n^{\lambda+k+1}} \right)^{1/2} \left( \int_0^{\infty} e^{-nt} t^{\lambda+k} \left( \frac{nt+\alpha}{n+\beta} - x \right)^2 dt \right)^{1/2},$$

and, it concludes that

$$\begin{aligned}
 & \sum_{k=0}^{\infty} p_k(nx) \frac{n^{\lambda+k+1}}{\Gamma(\lambda+k+1)} \int_0^{\infty} e^{-nt} t^{\lambda+k} \left| \frac{nt+\alpha}{n+\beta} - x \right| dt \\
 & \leq \sum_{k=0}^{\infty} p_k(nx) \left( \frac{n^{\lambda+k+1}}{\Gamma(\lambda+k+1)} \right)^{1/2} \left( \int_0^{\infty} e^{-nt} t^{\lambda+k} \left( \frac{nt+\alpha}{n+\beta} - x \right)^2 dt \right)^{1/2}.
 \end{aligned} \tag{19}$$

By Cauchy-Schwarz inequality for sum on the right hand side of (19), it follows

$$\begin{aligned}
 & \sum_{k=0}^{\infty} p_k(nx) \frac{n^{\lambda+k+1}}{\Gamma(\lambda+k+1)} \int_0^{\infty} e^{-nt} t^{\lambda+k} \left| \frac{nt+\alpha}{n+\beta} - x \right| dt \\
 & \leq \sqrt{A(1)B(nx)} \left( A(1)B(nx) L_n^{(\alpha,\beta,\lambda)}((t-x)^2; x) \right)^{1/2} \\
 & = A(1)B(nx) \left( L_n^{(\alpha,\beta,\lambda)}((t-x)^2; x) \right)^{1/2} \\
 & = A(1)B(nx) \left( \Omega_n^{(\alpha,\beta,\lambda)}(x) \right)^{1/2},
 \end{aligned} \tag{20}$$

where  $\Omega_n^{(\alpha,\beta,\lambda)}(x)$  is as in the equality (17). When we consider (20) in (18), we obtain

$$\left| L_n^{(\alpha,\beta,\lambda)}(f; x) - f(x) \right| \leq \left\{ 1 + \frac{1}{\delta} \sqrt{\Omega_n^{(\alpha,\beta,\lambda)}(x)} \right\} \omega(f; \delta).$$

Choosing  $\delta = \sqrt{\Omega_n^{(\alpha,\beta,\lambda)}(x)}$  gives us

$$\left| L_n^{(\alpha,\beta,\lambda)}(f; x) - f(x) \right| \leq 2\omega\left(f; \sqrt{\Omega_n^{(\alpha,\beta,\lambda)}(x)}\right)$$

We note that  $\Omega_n^{(\alpha,\beta,\lambda)}(x)$  goes to zero when  $n \rightarrow \infty$  under the assumptions (15).  $\square$

### 3. Special Cases of the Operators $L_n^{(\alpha,\beta,\lambda)}$ and Further Properties

The Hermite polynomials  $H_k^v(x)$  of variance  $v$  [20] are generated by

$$e^{-\frac{vt^2}{2} + xt} = \sum_{k=0}^{\infty} \frac{H_k^v(x)}{k!} t^k \tag{21}$$

and their explicit representation is given by

$$H_k^v(x) = \sum_{r=0}^{\lfloor \frac{k}{2} \rfloor} \left(-\frac{v}{2}\right)^r \frac{k!}{r!(k-2r)!} x^{k-2r}, \tag{22}$$

where  $\lfloor . \rfloor$  denotes the integer part. It is clear that Hermite polynomials  $H_k^v(x)$  of variance  $v$  are Brenke-type polynomials for

$$A(t) = e^{-\frac{vt^2}{2}} \text{ and } B(t) = e^t.$$

So, the operators (8) return to

$$H_n^{(\alpha,\beta,\lambda)}(f; x) = e^{-nx + \frac{x^2}{2}} \sum_{k=0}^{\infty} \frac{H_k^{(v)}(nx)}{k!} \frac{n^{\lambda+k+1}}{\Gamma(\lambda+k+1)} \int_0^{\infty} e^{-nt} t^{\lambda+k} f\left(\frac{nt+\alpha}{n+\beta}\right) dt \tag{23}$$

which gives a Stancu type generalization of the Durrmeyer type integral operators (3) including Hermite polynomials of variance  $v$  where  $x \geq 0$ ,  $\lambda \geq 0$  and  $n \in \mathbb{N}$ . For  $v \leq 0$ , the restrictions (4) and assumptions (15) for the operators  $H_n^{(\alpha,\beta,\lambda)}$  are verified.

Now, we give the moments and recurrence relation for central moments of the operators (23).

**Lemma 3.1.** For the operators  $H_n^{(\alpha,\beta,\lambda)}$ , we have

$$H_n^{(\alpha,\beta,\lambda)}(1; x) = 1, \tag{24}$$

$$H_n^{(\alpha,\beta,\lambda)}(t; x) = \frac{\lambda + \alpha + 1 - v + nx}{n + \beta},$$

$$H_n^{(\alpha,\beta,\lambda)}(t^2; x) = \frac{1}{(n + \beta)^2} \left\{ n^2 x^2 + n(-2v + 2\lambda + 2\alpha + 4)x + v^2 - v(2\lambda + 2\alpha + 5) + \alpha^2 + (\lambda + 1)(2\alpha + \lambda + 2) \right\}, \tag{25}$$

$$H_n^{(\alpha,\beta,\lambda)}(t^3; x) = \frac{1}{(n + \beta)^3} \left\{ (nx - v)^3 + (3\lambda + 3\alpha + 9)(nx - v)^2 + (nx - v)(3\alpha^2 + 3(2\lambda + 4)\alpha + 3\lambda^2 + 15\lambda + 18 - 3v) + \alpha^3 + 3(\lambda + 1)\alpha^2 + 3(\lambda^2 + 3\lambda + 2 - v)\alpha + (\lambda + 3)(\lambda^2 + 3\lambda + 2 - 3v) \right\},$$

$$\begin{aligned}
 H_n^{(\alpha, \beta, \lambda)}(t^4; x) &= \frac{1}{(n + \beta)^4} \left\{ (nx - v)^4 + 4(\lambda + \alpha + 4)(nx - v)^3 \right. \\
 &\quad + 6(\lambda^2 + 7\lambda + \alpha^2 + 6\alpha + 2\lambda\alpha + 12 - v)(nx - v)^2 \\
 &\quad + [(\lambda + 1)(6\alpha^2 + 4\alpha + 3\lambda + 9) + (\lambda + 2)(6\alpha^2 + 12\alpha + 4\lambda + 15) \\
 &\quad + (\lambda + 1)(\lambda + 2)(4\lambda + 12\alpha + 15) + 4\alpha^3 + 6\alpha^2 \\
 &\quad - 12v(\alpha + \lambda + 4) + 4\lambda + 4\alpha + 11 + 2(\lambda + 2)(\lambda + 4\alpha + 4)](nx - v) \\
 &\quad + 3v^2 - 6v(\lambda^2 + 7\lambda + \alpha^2 + 6\alpha + 2\lambda\alpha + 12) \\
 &\quad \left. + \alpha^4 + (\lambda + 1)(4\alpha^3 + 6\alpha^2(\lambda + 2)) \right\}.
 \end{aligned}$$

*Proof.* From the generating function (21) of the Hermite polynomials of variance  $v$ , we can easily obtain the above equalities.  $\square$

**Lemma 3.2.** *If we define the central moment of degree  $m$ ,*

$$\begin{aligned}
 \mu_{n,m}^{(\lambda)}(x) &= H_n^{(\alpha, \beta, \lambda)}((t - x)^m; x) \\
 &= e^{-nx + \frac{x^2}{2}} \sum_{k=0}^{\infty} \frac{H_k^{(v)}(nx)}{k!} \frac{n^{\lambda+k+1}}{\Gamma(\lambda + k + 1)} \int_0^{\infty} e^{-nt} t^{\lambda+k} \left( \frac{nt + \alpha}{n + \beta} - x \right)^m dt
 \end{aligned} \tag{26}$$

then, we have

$$\begin{aligned}
 \mu_{n,0}^{(\lambda)}(x) &= 1, \\
 \mu_{n,1}^{(\lambda)}(x) &= \frac{\lambda + \alpha + 1 - v - \beta x}{n + \beta}, \\
 \mu_{n,2}^{(\lambda)}(x) &= \frac{\beta^2}{(n + \beta)^2} x^2 + \frac{x}{(n + \beta)^2} (2n + 2\beta(v - \lambda - \alpha - 1)) \\
 &\quad + \frac{1}{(n + \beta)^2} \left\{ v^2 - v(2\lambda + 2\alpha + 5) + \alpha^2 + (\lambda + 1)(2\alpha + \lambda + 2) \right\},
 \end{aligned} \tag{27}$$

$$\begin{aligned}
 \mu_{n,4}^{(\lambda)}(x) &= \frac{\beta^4}{(n + \beta)^4} x^4 + \frac{12n\beta^2 - 4\beta^3(\lambda + \alpha + 1 - v)}{(n + \beta)^4} x^3 \\
 &\quad + \frac{x^2}{(n + \beta)^4} \left\{ 12n^2 + 24n\beta(v - \alpha - \lambda - 2) \right. \\
 &\quad \left. + 6\beta^2(v^2 - v(2\lambda + 2\alpha + 5) + \alpha^2 + (\lambda + 1)(2\alpha + \lambda + 2)) \right\} \\
 &\quad + \frac{x}{(n + \beta)^4} \left\{ -12nv(2\lambda + 2\alpha + 7 - v) + n\lambda(24\alpha + 12\lambda + 60) \right. \\
 &\quad \left. + n(12\alpha^2 + 48\alpha + 72) \right. \\
 &\quad \left. + 4\beta v(v^2 - 12v\lambda - 12v\alpha - 39v + 3\alpha^2 + 3\lambda^2 + 6\lambda\alpha + 15\alpha + 18\lambda + 27) \right. \\
 &\quad \left. - 4\alpha\beta(\alpha^2 + 3\lambda\alpha + 3\alpha + 3\lambda^2 + 9\lambda + 6) - 4\beta(\lambda^3 + 6\lambda^2 + 11\lambda + 6) \right\} \\
 &\quad + \frac{1}{(n + \beta)^4} \left\{ v^4 - 2v^3(2\lambda + 2\alpha + 11) \right. \\
 &\quad \left. - v(12\lambda\alpha^2 + 146\lambda + 106\alpha + 42\lambda^2 + 72\alpha\lambda + 168 + 30\alpha^2 + 4\lambda^3 + 12\lambda^2\alpha + 4\alpha^3) \right. \\
 &\quad \left. + 3v^2(2\lambda^2 + 18\lambda + 2\alpha^2 + 16\alpha + 4\lambda\alpha + 41) \right. \\
 &\quad \left. + \alpha^4 + (\lambda + 1)(4\alpha^3 + 6\alpha^2(\lambda + 2)) \right\}.
 \end{aligned} \tag{28}$$



Moreover, for  $n > m$ , we have the following recurrence relation

$$\begin{aligned} n(m+1)\mu_{n,m}^{(\lambda)}(x) + m(m+1)\mu_{n,m-1}^{(\lambda)}(x) + (m+1)\mu_{n,m}'^{(\lambda)}(x) \\ = n(n+\beta)\left(\mu_{n,m+1}^{(\lambda+1)}(x) - \mu_{n,m+1}^{(\lambda)}(x)\right). \end{aligned} \tag{29}$$

*Proof.* By using the linearity of the operators  $H_n^{(\alpha,\beta,\lambda)}$  and Lemma 3.1, one can easily obtain the equalities (27) and (28).

In order to obtain the recurrence relation, if we take derivative of the each side of the equality (26), we have

$$\begin{aligned} \mu_{n,m}'^{(\lambda)}(x) \\ = -ne^{-nx+\frac{x}{2}} \sum_{k=0}^{\infty} \frac{H_k^{(v)}(nx)}{k!} \frac{n^{\lambda+k+1}}{\Gamma(\lambda+k+1)} \int_0^{\infty} e^{-nt} t^{\lambda+k} \left(\frac{nt+\alpha}{n+\beta} - x\right)^m dt \\ + ne^{-nx+\frac{x}{2}} \sum_{k=0}^{\infty} \frac{H_k'^{(v)}(nx)}{k!} \frac{n^{\lambda+k+1}}{\Gamma(\lambda+k+1)} \int_0^{\infty} e^{-nt} t^{\lambda+k} \left(\frac{nt+\alpha}{n+\beta} - x\right)^m dt \\ - me^{-nx+\frac{x}{2}} \sum_{k=0}^{\infty} \frac{H_k^{(v)}(nx)}{k!} \frac{n^{\lambda+k+1}}{\Gamma(\lambda+k+1)} \int_0^{\infty} e^{-nt} t^{\lambda+k} \left(\frac{nt+\alpha}{n+\beta} - x\right)^{m-1} dt. \end{aligned} \tag{30}$$

From (21), it readily follows that

$$H_k'^{(v)}(nx) = kH_{k-1}^{(v)}(nx).$$

Using this in (30), we get

$$\begin{aligned} \mu_{n,m}'^{(\lambda)}(x) \\ = -n\mu_{n,m}^{(\lambda)}(x) - m\mu_{n,m-1}^{(\lambda)}(x) \\ + ne^{-nx+\frac{x}{2}} \sum_{k=0}^{\infty} \frac{H_k^{(v)}(nx)}{k!} \frac{n^{\lambda+1+k+1}}{\Gamma(\lambda+1+k+1)} \int_0^{\infty} e^{-nt} t^{\lambda+1+k} \left(\frac{nt+\alpha}{n+\beta} - x\right)^m dt \end{aligned}$$

Applying integration by parts

$$e^{-nt} t^{\lambda+k+1} = u, \quad \left(\frac{nt+\alpha}{n+\beta} - x\right)^m dt = dv,$$

gives (29).  $\square$

Now, let's calculate the rates of convergence of the operators  $H_n^{(\alpha,\beta,\lambda)}$  to  $f$  by using the second modulus of continuity.

First of all, we give the following lemmas.

**Lemma 3.3 (Gavrea and Raşa [9]).** Let  $g \in C^2[0, a]$  and  $(P_n)_{n \geq 0}$  be a sequence of linear positive operators with the property  $P_n(1; x) = 1$ . Then

$$|P_n(g; x) - g(x)| \leq \|g'\| \sqrt{P_n((t-x)^2; x)} + \frac{1}{2} \|g''\| P_n((t-x)^2; x).$$

**Lemma 3.4 (Zhuk [26]).** Let  $f \in C[a, b]$  and  $h \in (0, \frac{b-a}{2})$ . Let  $f_h$  be the second-order Steklov function attached to the function  $f$ . Then the following inequalities are satisfied

- (i)  $\|f_h - f\| \leq \frac{3}{4}\omega_2(f; h)$
- (ii)  $\|f_h''\| \leq \frac{3}{2h^2}\omega_2(f; h)$ .

**Theorem 3.5.** For  $f \in C[0, a]$ , we have

$$\left| H_n^{(\alpha, \beta, \lambda)}(f; x) - f(x) \right| \leq \frac{2}{a} \|f\| h^2 + \frac{3}{4} (a + h^2 + 2)\omega_2(f; h),$$

where

$$h := h_n(x) = \sqrt[4]{H_n^{(\alpha, \beta, \lambda)}((t-x)^2; x)}$$

and the second modulus of continuity of  $f \in C[a, b]$  is defined by

$$\omega_2(f; \delta) := \sup_{0 < t \leq \delta} \|f(\cdot + 2t) - 2f(\cdot + t) + f(\cdot)\|$$

with the norm  $\|f\| = \max_{x \in [a, b]} |f(x)|$ .

*Proof.* Assume that  $f_h$  is the second-order Steklov function attached to the function  $f$ . From (24), we may write

$$\begin{aligned} & \left| H_n^{(\alpha, \beta, \lambda)}(f; x) - f(x) \right| \tag{31} \\ & \leq \left| H_n^{(\alpha, \beta, \lambda)}(f - f_h; x) \right| + \left| H_n^{(\alpha, \beta, \lambda)}(f_h; x) - f_h(x) \right| + |f_h(x) - f(x)| \\ & \leq 2 \|f_h - f\| + \left| H_n^{(\alpha, \beta, \lambda)}(f_h; x) - f_h(x) \right|. \end{aligned}$$

In view of the fact that  $f_h \in C^2[0, a]$ , from Lemma 3.3, we get

$$\begin{aligned} & \left| H_n^{(\alpha, \beta, \lambda)}(f_h; x) - f_h(x) \right| \\ & \leq \|f_h'\| \sqrt{H_n^{(\alpha, \beta, \lambda)}((t-x)^2; x)} + \frac{1}{2} \|f_h''\| H_n^{(\alpha, \beta, \lambda)}((t-x)^2; x). \end{aligned} \tag{32}$$

It follows from the Landau inequality and Lemma 3.4

$$\begin{aligned} \|f_h'\| & \leq \frac{2}{a} \|f_h\| + \frac{a}{2} \|f_h''\| \\ & \leq \frac{2}{a} \|f\| + \frac{3a}{4h^2}\omega_2(f; h). \end{aligned}$$

By using this inequality, the inequality (32) leads to by taking  $h = \sqrt[4]{H_n^{(\alpha, \beta, \lambda)}((t-x)^2; x)}$

$$\begin{aligned} & \left| H_n^{(\alpha, \beta, \lambda)}(f_h; x) - f_h(x) \right| \\ & \leq \frac{2}{a} \|f\| h^2 + \frac{3a}{4}\omega_2(f; h) + \frac{3h^2}{4}\omega_2(f; h). \end{aligned}$$

From this inequality and Lemma 3.4, it follows

$$\left| H_n^{(\alpha, \beta, \lambda)}(f; x) - f(x) \right| \leq \frac{2}{a} \|f\| h^2 + \frac{3}{4} (a + h^2 + 2)\omega_2(f; h),$$

which is desired.  $\square$

3.1. Voronovskaja-type theorem for the operators  $H_n^{(\alpha,\beta,\lambda)}$

Now, we obtain a Voronovskaja-type asymptotic estimate of the operators (23).

**Theorem 3.6.** Suppose that  $f \in C^2 [0, a]$ . Then we have

$$\lim_{n \rightarrow \infty} n \left[ H_n^{(\alpha,\beta,\lambda)}(f; x) - f(x) \right] = (\lambda + \alpha + 1 - v - \beta x) f'(x) + x f''(x).$$

*Proof.* By the Taylor expansion, we may write

$$f(t) = f(x) + (t - x) f'(x) + \frac{(t - x)^2}{2!} f''(x) + (t - x)^2 \eta(t; x),$$

where  $\eta(t; x) \in C [0, a]$  and  $\eta(t; x) \rightarrow 0$  as  $t \rightarrow x$ . Applying the operators (23) to the above equality, we get

$$\begin{aligned} H_n^{(\alpha,\beta,\lambda)}(f; x) - f(x) &= f'(x) H_n^{(\alpha,\beta,\lambda)}(t - x; x) \\ &\quad + \frac{f''(x)}{2!} H_n^{(\alpha,\beta,\lambda)}((t - x)^2; x) + H_n^{(\alpha,\beta,\lambda)}((t - x)^2 \eta(t; x); x). \end{aligned}$$

In view of Lemma 3.2, we have

$$\begin{aligned} &n \left[ H_n^{(\alpha,\beta,\lambda)}(f; x) - f(x) \right] \\ &= n f'(x) \left[ \frac{\lambda + \alpha + 1 - v - \beta x}{n + \beta} \right] \\ &\quad + n \left\{ \frac{\beta^2}{(n + \beta)^2} x^2 + \frac{2}{(n + \beta)^2} (n + \beta(v - \lambda - \alpha - 1)) x \right. \\ &\quad \left. + \frac{1}{(n + \beta)^2} [v^2 - v(2\lambda + 2\alpha + 5) + \alpha^2 + (\lambda + 1)(2\alpha + \lambda + 2)] \right\} \frac{f''(x)}{2!} \\ &\quad + n H_n^{(\alpha,\beta,\lambda)}((t - x)^2 \eta(t; x); x). \end{aligned} \tag{33}$$

Now we shall show that

$$\lim_{n \rightarrow \infty} n H_n^{(\alpha,\beta,\lambda)}((t - x)^2 \eta(t; x); x) = 0.$$

From the Cauchy-Schwarz inequality, we have

$$n H_n^{(\alpha,\beta,\lambda)}((t - x)^2 \eta(t; x); x) \leq \sqrt{n^2 H_n^{(\alpha,\beta,\lambda)}((t - x)^4; x)} \cdot \sqrt{H_n^{(\alpha,\beta,\lambda)}(\eta^2(t; x); x)}.$$

Direct calculations show that

$$\lim_{n \rightarrow \infty} n^2 H_n^{(\alpha,\beta,\lambda)}((t - x)^4; x) = 12x^2$$

and, since  $\eta(t; x) \in C [0, a]$  and  $\eta(t; x) \rightarrow 0$  as  $t \rightarrow x$ , it follows

$$\lim_{n \rightarrow \infty} H_n^{(\alpha,\beta,\lambda)}(\eta^2(t; x); x) = \eta^2(x; x) = 0.$$

So, we obtain

$$\lim_{n \rightarrow \infty} n H_n^{(\alpha,\beta,\lambda)}((t - x)^2 \eta(t; x); x) = 0 \tag{34}$$

and then, by taking limit as  $n \rightarrow \infty$  in (33) and using (34), we end up the proof.  $\square$

3.2. An  $r$ -th order generalization of the operators  $H_n^{(\alpha,\beta,\lambda)}$

In this subsection, we consider  $r$ -th order generalization of the positive linear operators  $H_n^{(\alpha,\beta,\lambda)}$ . This generalization was first given by Kirov and Popova [14]. In 2011, Agratini [2] studied a generalization of the  $r$ -th order of Stancu-type operators. Some results in this direction were found in [17], [18],[19].

Now, we define the following generalization of the positive linear operators  $H_n^{(\alpha,\beta,\lambda)}$

$$\begin{aligned}
 H_{n,r}^{(\alpha,\beta,\lambda)}(f;x) &= e^{-nx+\frac{x}{2}} \sum_{k=0}^{\infty} \frac{H_k^{(v)}(nx)}{k!} \frac{n^{\lambda+k+1}}{\Gamma(\lambda+k+1)} \\
 &\times \int_0^{\infty} e^{-nt} t^{\lambda+k} \sum_{j=0}^r f^{(j)}\left(\frac{nt+\alpha}{n+\beta}\right) \frac{\left(x-\frac{nt+\alpha}{n+\beta}\right)^j}{j!} dt
 \end{aligned} \tag{35}$$

where  $f \in C^r[0,A]$  ( $0 < A < 1, r \in \mathbb{N}_0, n \in \mathbb{N}$ ). Here  $C^r[0,A]$  denotes the space of all functions of having continuous  $r$ -th order derivative  $f^{(r)}$  on the segment  $[0,A]$ , ( $0 < A < 1$ ), where as usual,  $f^{(0)}(x) = f(x)$ .

Note that taking  $r = 0$ , we obtain the operators  $H_n^{(\alpha,\beta,\lambda)}(f;x)$  defined by (23).

In order to give some approximation properties of the operators defined by (35) let us recall some definitions.

**Definition 3.7.** Let  $f$  be a real valued continuous function defined on  $[0,A]$ . Then  $f$  is said to be Lipschitz continuous of order  $\gamma$  on  $[0,A]$  if

$$|f(x) - f(y)| \leq M|x - y|^\gamma$$

for  $x, y \in [0,A]$  with  $M > 0$  and  $0 < \gamma \leq 1$ . The set of Lipschitz continuous functions is denoted by  $Lip_M(\gamma)$ .

**Theorem 3.8.** For any  $f \in C^r[0,A]$  with the property  $f^{(r)} \in Lip_M(\gamma)$ ,

$$\left\| H_{n,r}^{(\alpha,\beta,\lambda)}(f;x) - f \right\|_{C[0,A]} \leq \frac{M}{(r-1)!} \frac{\gamma}{\gamma+r} B(\gamma,r) \left\| H_n^{(\alpha,\beta,\lambda)}(|x-t|^{r+\gamma};x) \right\|_{C[0,A]} \tag{36}$$

where  $B(\gamma,r)$  is Beta function defined by

$$B(\gamma,r) = \int_0^1 s^{\gamma-1} (1-s)^{r-1} dt, (\gamma,r > 0). \tag{37}$$

*Proof.* From (35), we have

$$\begin{aligned}
 &f(x) - H_{n,r}^{(\alpha,\beta,\lambda)}(f;x) \\
 &= e^{-nx+\frac{x}{2}} \sum_{k=0}^{\infty} \frac{H_k^{(v)}(nx)}{k!} \frac{n^{\lambda+k+1}}{\Gamma(\lambda+k+1)} \\
 &\times \int_0^{\infty} e^{-nt} t^{\lambda+k} \left[ f(x) - \sum_{j=0}^r f^{(j)}\left(\frac{nt+\alpha}{n+\beta}\right) \frac{\left(x-\frac{nt+\alpha}{n+\beta}\right)^j}{j!} \right] dt.
 \end{aligned} \tag{38}$$

Applying the Taylor’s formula, we may write that

$$\begin{aligned}
 f(x) - \sum_{j=0}^r f^{(j)}\left(\frac{nt+\alpha}{n+\beta}\right) \frac{\left(x - \frac{nt+\alpha}{n+\beta}\right)^j}{j!} \\
 = \frac{\left(x - \frac{nt+\alpha}{n+\beta}\right)^r}{(r-1)!} \int_0^1 (1-s)^{r-1} \left[ f^{(r)}\left(\frac{nt+\alpha}{n+\beta} + s\left(x - \frac{nt+\alpha}{n+\beta}\right)\right) - f^{(r)}\left(\frac{nt+\alpha}{n+\beta}\right) \right] ds.
 \end{aligned}
 \tag{39}$$

Because of  $f^{(r)} \in Lip_M(\gamma)$ , we obtain

$$\left| f^{(r)}\left(\frac{nt+\alpha}{n+\beta} + s\left(x - \frac{nt+\alpha}{n+\beta}\right)\right) - f^{(r)}\left(\frac{nt+\alpha}{n+\beta}\right) \right| \leq Ms^\gamma \left| x - \frac{nt+\alpha}{n+\beta} \right|^\gamma.
 \tag{40}$$

On the other hand, from the the well-known expression of the Beta function, we get

$$\int_0^1 (1-s)^{r-1} s^\gamma ds = B(1+\gamma, r) = \frac{\gamma}{\gamma+r} B(\gamma, r).
 \tag{41}$$

By considering (40) and (41) in (39), we have

$$\left| f(x) - \sum_{j=0}^r f^{(j)}\left(\frac{nt+\alpha}{n+\beta}\right) \frac{\left(x - \frac{nt+\alpha}{n+\beta}\right)^j}{j!} \right| \leq \frac{M}{(r-1)!} \frac{\gamma}{\gamma+r} B(\gamma, r) \left| x - \frac{nt+\alpha}{n+\beta} \right|^{r+\gamma}.
 \tag{42}$$

Taking (42) in (38) we arrive at (36).  $\square$

Now we take a function  $g \in C[0, A]$  which is defined by  $g(t) = |x - t|^{r+\gamma}$ . Since  $g(x) = 0$ , we can write

$$\left\| H_n^{(\alpha, \beta, \lambda)}(|x - t|^{r+\gamma}; x) \right\|_{C[0, A]} = 0.$$

Theorem 3.8 yields that for all  $f \in C^r[0, A]$  such that  $f^{(r)} \in Lip_M(\gamma)$ , we obtain

$$\lim_{n \rightarrow \infty} \left\| H_{n,r}^{(\alpha, \beta, \lambda)}(f; x) - f \right\|_{C[0, A]} = 0.$$

### References

[1] U. Abel, V. Gupta, R.N. Mohapatra, Local approximation by a variant of Bernstein–Durrmeyer operators, *Nonlinear Anal.* 68 (2008) 3372–3381.  
 [2] O. Agratini, Statistical convergence of non-positive approximation process, *Chaos Solitons Fractals* 44(11) (2011) 977-981.  
 [3] F. Altomare, M. Campiti, Korovkin-type approximation theory and its applications. Appendix A by Michael Pannenberg and Appendix B by Ferdinand Beckhoff, de Gruyter Studies in Mathematics, 17. Walter de Gruyter & Co., Berlin, 1994.  
 [4] D. Cardenas-Morales, P. Garrancho, I. Raşa, Approximation properties of Bernstein–Durrmeyer type operators, *Appl. Math and Comp.* 232 (2011) 1-8.  
 [5] W. Chen, On the modified Bernstein–Durrmeyer operators, Report of the Fifth Chinese Conference on Approximation Theory, Zhen Zhou, China, 1987.  
 [6] T.S. Chihara, *An Introduction to Orthogonal Polynomials*, Gordon and Breach, New York, 1978.  
 [7] A. Ciupa, A class of integral Favard–Szász type operators, *Studia Univ. Babeş-Bolyai Math.* 40(1) (1995) 39-47.  
 [8] J.L. Durrmeyer, Une formule d’inversion de la transformée de Laplace: Applications à la théorie de moments, Thèse de 3e cycle, Faculté des Sciences de l’Université de Paris, (1967).  
 [9] I. Gavrea, I. Raşa, Remarks on some quantitative Korovkin-type results, *Rev. Anal. Numér. Théor. Approx.* 22(2) (1993) 173-176.  
 [10] H. Gonska, D. Kacsó, I. Raşa, On genuine Bernstein–Durrmeyer operators, *Result. Math.* 50(2007) 213–225.

- [11] H. Gonska, R. Păltănea, Simultaneous approximation by a class of Bernstein–Durrmeyer operators preserving linear functions, *Czechoslovak. Math. J.* 60 (2010) 783–799.
- [12] G. İçöz, S. Varma, S. Sucu, Approximation by operators including generalized Appell polynomials. *Filomat* 30 (2) (2016) 429-440.
- [13] A. Jakimovski, D. Leviatan, Generalized Szász operators for the approximation in the infinite interval, *Mathematica (Cluj)* 11(1969) 97-103.
- [14] G.H. Kirov, L. Popova, A generalization of the linear positive operators, *Math. Balkanica* 7(1993) 149–162.
- [15] S.M. Mazhar, V. Totik, Approximation by modified Szász operators, *Acta Sci. Math. (Szeged)* 49(1-4) (1985) 257-269.
- [16] V.N. Mishra, M. Mursaleen, P. Sharma, Some approximation properties of Baskakov-Szász Stancu operators, *Appl. Math. Inf. Sci.* 9 (6) (2015) 3159-3167.
- [17] A. Olgun, H. G. İnce, F. Taşdelen, Kantorovich-type Generalization of Meyer -König and Zeller Operators via Generating Functions, *An. Şt. Univ. Ovidius Constanta* 21(3) (2013) 209-221.
- [18] M.Örkçü, Approximation properties of Stancu-type Meyer -König and Zeller Operators, *Hacet. J. Math. Stat.* 42(2) (2013) 139-148.
- [19] M. A. Özarslan, O. Duman, H. M. Srivastava, Statistical approximation results for Kantorovich-type operators involving some special polynomials, *Math. Comput Modelling* 48(2008) 388-401.
- [20] S. Roman, *The umbral Calculus, Pure and Applied Mathematics*, 111. Academic Press, Inc. (Harcourt Brace Jovanovich, Publishers), New York, 1984.
- [21] S. Sucu, G. İçöz, S. Varma, On some extensions of Szász operators including Boas-Buck-type polynomials, *Abstr. Appl. Anal.* 2012, Art. ID 680340, 15 pp.
- [22] S. Varma, S. Sucu, G. İçöz, Generalization of Szász operators involving Brenke type polynomials, *Comput. Math. Appl.* 64 (2) (2012) 121-127.
- [23] S. Varma, F. Taşdelen Szász type operators involving Charlier polynomials, *Math. Comput. Modelling* 56(5-6) (2012) 118-122.
- [24] S. Varma, On a generalization of Szász operators by multiple Appell polynomials, *Stud. Univ. Babeş-Bolyai Math.* 58(3) (2013) 361-369.
- [25] S. Varma, F. Taşdelen, On a generalization of Szász-Durrmeyer operators with some orthogonal polynomials, *Stud. Univ. Babeş-Bolyai Math.* 58(2) (2013) 225-232.
- [26] V.V. Zhuk, Functions of the Lip1 class and S. N. Bernstein’s polynomials, *Vestnik Leningrad. Univ. Mat. Mekh. Astronom.* 1 (1989) 25-30 (Russian)